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1. Poan AUCHHUITJINHBI «Hpmbeccuona.ﬂbﬂaﬂ NMOJArOTOBKA HA AHIJIMHCKOM SI3BIKE» B (l)OpMHpOBaHI/II/[ KOMIIe Te HIIMH BBIINIYCKHHUKA:

jieMeHT . CocTaBiasiiomue pe3yjbTaTOB 0CBOEHHs (1€ CKPUNTOPBI
. M HAMKATOPBI X0CTHKE HUSI KOMIIE T € HIHi o
o0pa3oBaTe b HOM Kon KOMIIE T e HIHii)
NpOrpaMMBbI Cemectp | KommeTeHmun | HamMeHOBaHHe KOMIIE Te HIMA e <aToDa
MMe HOBaHHEe HHIHKAT
(AUCIHMILIMHA, TPAKTHKA, Kon mnaukatopa Bl p Koa Haume HOBaHue
JOCTHIKE HUSI
THA)
Bnaneer onbITOM CTpYyKTY pUp OBaHUS U
oopMIIEeHHS Yy CTHOTO COOOIIEHNs Ha,
YK(Y)-4.6B1 | mpeseHTanmm nokiana Ha
Jlemorc or 1p 0o(heCCHOHATIHHY O TEMY Ha
cnoco613c];cli}:y13mc Hathb ¢ HOCTD AHHOM A3BIKC
YK(Y)-4.6 JOKIAZIOM Ha MHocTy AHHOM 'Y Meer JIOTHYHO, MOCIIeI0BATENbHO U
’ ’ 43b1Ke HA P apTyMEHTHP OBaHO BBIP XKaTh MBICIH Ha
1D OtheCCHOHATb HY 10 TeMy YK(Y)-4.6Y1 | uHOCTpaHHOM SI3BIKE Ha
)
oecCHOHANTBHY IO TE enathb
OTBEYaTh Ha BOIIP OCHI, EEIB%)JM Hy My, I
CriocobeH ocy IECTBIATH TOJIEP KUBATD JUCKY CCUIO 3HacT OCHOBEL CTDY KTy pHPOBAHUA
JIEIOBY 10 KOMMY HUKAIMIO B .
Ipodeccuonanbuas K(Y)-4 y 9 K(V)-4.63] | AOK1ana v NOAroTOBKH Mp E3CHTAIMI Ha
5,6,7,8 YKE)- Y CTHOH W TIHCLMCHHOH op Max YK(¥)-4.63 HMHOCTP aHHOM SI3bIKE, IIP UHATHIX B
HOAroToBKa Ha P Ha TOCY Jap CTBEHHOM S3bIKE P - 1P
AHIJIMICKOM  SI3bIKE yoen Hay YHOH ME Iy HAp O/HOM cpesie
Poccuiickoit ®eneparuu 1
HHOCTP AHHOM(-IX) A3BIKe(-aX) Brnageer onbITOM HCTIONB30BaHHUA
JemoHCTpUpY €T VK(Y)-4.7B1 MHOSI3bIYHBIE JIEKCUKO-TPaMMaTHIECKUX
CIOCOOHOCTH KOP P EKTHOTO CTPYKTYp 1 1P 0peCCHOHAIBEHO-
HCIIOJIb30BAHMS JIEKCHKO- Op HEHTHp OBAHHO TEPMIHOJIOT MK
TpaMMATHYECKUX CTPYKTYP Y MeeT Kop peKTHO UCHIOJIH30BaTh
N.YK(VY)-4.7 1 1p 0(heCCHOHATIBHO- VK(Y)-4.7Y 1 HMHOSI3bIYHBIE JIEKCUKO-TPAMMAaTHYECKUE
Op MEHTHP OBAHHY 1O ' CTPY KTYpbI U [P O(peCCHOHATBHO-
TEp MUHOJIOTHIO B CBOEH Op MEHTHp OBAHHYIO TEPMHHOJIOTUIO
ip oheccHoHaIbHOM 3HaeT 0a30BY 10 JIGKCHKY U
JIeATENTbHOCTH YK(Y)-4.731 | mpodeccrnonansHO-Op UEHTHP OBAHHY O

TEP MUHOJIOTUIO HA MHOCTP AHHOM SI3BIKE

2. Iloka3ateiu n ME€TO/JAbI OLICHUBAHUSA

Ilianupyemble pe3yJibTaThl 00yYe HHsl 10 JHCIHUILIHHE

Koa xonTposupyemoii

Haume HoBaHue pas3aesia

MeToabl 0Olie HUBAHUS

Konx HauMe HoOBaHHe KOMMeTe HIuU (HIH ee JIMCIUILT HHBI (oe HOYHBIE Me PONpPUATHS)
4acTH)
PAI-1 OcyuiecTBIsIT KOMMYHUKAIUY HA UTHOCTPAHHOM $SI3bIKE B N.YK(Y)-4.6 Paznen 1. OcHoBEI Ipesentanus

npodeccnoHaasHOU chepe

(6 cemectp)
Paznen 3. Hudposas

IEKTPOHUKH (5 cemecTp)
Paznen 2. [Ipumenenue
OIEPALMOHHBIX YCUIUTEIEH

PaboTa B MasbIxX rpymmax




aneKTpoHuKa (7 ceMecTp)
Paznen 4. CunoBas
sekTpoHuKa (8 cemectp)

PI-2 Pemate nmpocdeccnoHansHbIC 3a7]a4M HA HHOCTPAHHOM SI3BIKE N.YK(Y)-4.7 Paznen 1. OcHoBEI TectupoBanue
INEKTPOHUKH (5 cemecTp) KonTtpomsHas pabota
Paznen 2. [Ipumenenue PaboTa B MasbIX rpymnmax
OTIEpPAIOHHBIX yCHINTENICH
(6 cemectp)

Pazpen 3. [upposas
snektpoHuka (7 cemectp)
Paznen 4. CunoBast
sekTpoHuKa (8 cemectp)

Pa-3 IIpeseHToBaTh U 3alMIIATL PE3YJILTATl KOMIUIEKCHOM N.YK(Y)-4.6 Pazpen 1. OcHOBBI IIpesenranus
WHXCHEPHOU eITeIbHOCTH Ha MHOCTPAHHOM S3bIKE INEKTPOHUKH (5 cemecTp)
Paznen 2. [pumenenue
ONEPALMOHHBIX YCUIUTEICH
(6 cemectp)

Paznen 3. Hudposas
anektpoHuka (7 cemectp)
Pazgen 4. CunoBas
snekTpoHukKa (8 cemectp)

3. IlIxaja oueHUBaHUsA
[Topsinok opraHu3alMM OLICHUBAHUS PE3yJIbTaTOB OOYYEHMS B YHUBEPCUTETE PEITIAMEHTUPYETCS OTIENIbHBIM JIOKAJIbHBIM HOPMAaTUBHBIM aKTOM —
«Cucrema ornieHUBaHUs pe3yabTaToB oOyueHuss B TOMCKOM MOJUTeXHUUYECKOM YHHBepcuTeTe (Cucrema olleHHBaHUsA)» (B ACHCTBYIOLICH PEIaKiuH ).
Hcnionb3yercs OaulbHO-PEHTHUHTOBAs CHCTEMa OLIGHWBAHUS PE3yJIbTaTOB OOydeHHs. MToroBas oueHka (TpaaiulMOHHAS M JUTEpHas) MO BUAAM
yueOHOM nestenpHOCTH (M3ydeHue mucuuiuimH, YHWPC, HUPC, kypcoBoe NpOEKTHpOBAHHWE, MPAKTHKH) OINPEICISIeTCS CyMMOW OalljloB 10
pe3yabTaTaM TEKYILEro KOHTPOJIS M MPOMEXYTOUHOM arTecTanuu (MTOroBasi peTHHIOBast olleHKa - MakcumMyM 100 6amioB).

Pacnpez[eneHI/Ie OCHOBHBIX H JOIIOJHUTCIBHBIX 6amnoB 3a OLCHOYHBIC MCEPOIPUATUA TCKYHICTO KOHTPOJSA U HpOMG)Ker‘IHOﬁ aTTeCTalnuu
YCTaHaBJIMBACTCA KaJICH JapHBIM peﬁTHHF-HHaHOM JAUCHUIIIINHBI.

PCKOMCHI[yeMaH niKajia 1 OTACIIbHBIX OIICHOYHBIX MepOHpI/IﬂTI/Iﬁ BXOJHOI'O U TCKYHICTO KOHTPOJIA

%o BBITIOJI HE HUSI CooTBeTCTBHE
. OnpeesneHne oueHKU
3a1aHus TPaaAUIHOHHOHM O1I¢ HKE
90%-+100% «OTmaHO» OmmMYHOE MOHMMAaHUE MpeIMeTa, BCECTOPOHHUE 3HAHUS, OTVIMYHbIE YMEHUS M BJIaJICHUE OIBITOM MPAKTUYECKOW JesTebHOCTH,
HEOOX0IMMBIC Pe3yJbTaThl 00y4YCHHS CHOPMHUPOBAHBI, HX KAYECTBO OIICHEHO KOJMYECTBOM 0aJioB, OJM3KHMM K MAKCUMAJIbHOMY
70% - 89% «Xopo1o» JlocTaTouHO TMOJHOE MOHUMAaHUE MPpeAMEeTa, XOPOIINe 3HAHUS, YMEHUS U OIBIT MPAKTUIECKON JIeSITeIbHOCTH, HEOOXOIUMBbIE pe3yJIbTaThl
00y4eHus cOpMHUPOBAHBL, KAYECTBO HH OJHOTO M3 HUX HE OLICHEHO MUHHUMaJbHBIM KOJMYCCTBOM OajuIoB




55% - 69% «Y IOBILY [puemireMoe MOHNMaHNE IPEIMETa, yIOBICTBOPUTENbHBIC 3HAHHS, YMEHHS U OIBIT IIPAKTHIECKOH NeITeTbHOCTH, HEOOXOAMMBIE PEe3yIIbTAaThI
00yueHus1 chOpMHUPOBAHBL, KAUECTBO HEKOTOPHIX M3 HUX OICHEHO MUHHMAJILHBIM KOJIMYECTBOM 0alioB
0% - 54% «Heynosiy» Pe3ynpTatl 00yUeHUsI HE COOTBETCTBYIOT MUHHMAJBHO JOCTATOYHBIM TPEeOOBAHUSIM
Illkasia 171 OLIEHOYHBIX MEPOIIPUITHI U 3aueTa
CreneHsn
c¢opMUPOBAHHOCTH CooTBeTcTBHE
Bann " OmnpeneseHne oneHKU

pe3yabTaToB TPpaIUIMOHHOHA OLIC HKE

00yyYe Hust
90% =+ 100% 90 =100 «OTmMIHO» OTmMyHOE MOHMMAaHUE MpeIMeTa, BCECTOPOHHHUE 3HAHWH, OTJIMYHBIE YMEHUS M BIIAJICHUE OTBITOM MPAKTUYECKOU JCATSIHbHOCTH
70% + 89% 70 =89 «Xopomo» JlocTato4HO MOJIHOE TOHUMAHKE TIPEMETA, XOPOLINE 3HAHMS, YMEHHUS U OTBIT MPAKTHYECKOHN JESITEIbHOCTH
55% + 69% 55 +69 «Y IOBIL» IIpuemieMoe noHUMaHue NpeaMeETa, yI0BICTBOPUTEIbHbIE 3HAHUS, YMEHHSI U ONBIT IPAKTUUECKON NEATeIbHOCTU

0% =+ 54% 0+54 «Heynosm» PesynbTaThl 00y4YeHUs HE COOTBETCTBYIOT MHUHUMAIBHO JIOCTATOYHBIM TPpeOOBaHUSIM
55% -+ 100% 55 +100 «3a4TeHO» Pe3ynbTaThl 00y4YeHUS COOTBETCTBYIOT MHHUMAJBHO JIOCTATOYHBIM TPEOOBaHMSIM

0% + 54% 0+54 «He 3auteHo» PesynbTaTel 00y4eHUsI HE COOTBETCTBYIOT MUHUMAIILHO JOCTATOYHBIM TPEOOBAHUSM

4. IlepeyeHb TUNOBBIX 3aJaHUI

O neHOYHBIE MePONPHSATHS

IIpuMe pbl THIOBBIX KOHTPOJIb HBIX 3212 HUH

1. TectupoBanue

Bormpocsr:

Paznea 1.

1. Classify each of the following components as passive or active: resistor; bipolar transistor; capacitor;
battery; transformer; field-effect transistor; inductor. Draw its symbols.

Draw the sinusoidal signal. What is the amplitude if it is known that Vrums equals 220 V? How can
we calculate the average voltage?

What is the frequency of a signal if the period is equal to 1 ms.

What does the term “phase difference” mean? Explain it with the help of waveforms.

Write the expression for Ohm’s law.

Kirchhoff’s current law and Kirchhoff’s voltage law. Explain them by using a simple circuit.

Write the relationship between the current flowing through and the voltage across the inductor.

Three fixed resistors are connected in parallel Calculate the total equivalent resistance Rrp of the
parallel circuit.

N
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9. Resistors Rl and R2 are connected in series to iput direct voltage source. If the mput voltage is
15V, and the resistance R1 =2-R2, what is the voltage across the resistor R2?

10. Time constant. What does it mean? Find time constant for CR- and LR-circuit.

11. Give the circuit of CR low-pass filter and its frequency response.

12. Draw and explain V-I characteristics of a PN junction diode.

13. Explain the abbreviations: FET, BJT, KVL, KCL.

Test#2
Please, choose one variant as an answer for each question:

1. A DC voltage

A) rises and falls

B) is a sinewave

C) remains constant

D) is an audio waveform

2. 1mA is equal to:
A) 0.001A

B) 0.00001A

C) 0.01A

D) 0.1A

3. If a 10k resistor is placed across a 10v supply, the current will be:
A) 10mA

B) ImA

C) 0.0lmA

D) 0.1mA

4. If a small value of capacitance is connected in parallel with a large value, the combined capacitance
will be:

A) The same

B) Higher

C) Lower
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5. A 10k resistor in parallel with 10k produces:
A) 10k

B) 5k

C) 20k

D) Cannot be determined

Two 3v batteries are connected as shown. The output voltage is:

A) 3v
B) Ov — il
C) 6v v v

7. The closest value for this combination is:
A) 4k7 =
B) 2k3

oo | L]

8. To obtain a higher value of resistance, resistors are connected in:
A) Reverse

B) Forward

C) Parallel

D) Series

9. The direction of conduction for a diode is:

—p— M —p— A
= ==
B C

—=
A

10. Name three terminals of a bipolar junction transistor
A) Collector Bias Omitter
B) Base Collector Case
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C) Emitter Collector Bias
D) Collector Base Emitter

Paznea 2.

1. What does the term ‘operational amplifier’ mean?

2. What general properties of op amp do you know?

3. Draw the amplitude curve of an op amp. How can we calculate the open-loop voltage gain?

4. What will be the output voltage swing if the voltage drop in the components of the op amp output
circuits is 1 volt for £15-V supply?

5. Draw the equivalent circuit of an op amp.

6. The op amp has an mput resistance r;,, =990 kQ), has a voltage gain A of 1000, and an output
resistance r,,; = 100 Q. If the amplitude of the e.m.f. (electromotive force) of the sinusoidal source,
Vs, is 2 mV, and the source resistance Rs = 10 kQ, what is the amplitude of the voltage V. across the
load resistance Ry =1kQ?

Paznea 3.

1. Explain the difference between analog and digital signal.

2. Draw the symbols of elementary logic gates.

3. Show how a power source, a lamp and a number of switches can be used to represent the following
logical functions: a)L=A-B-C;b)L=A+B+C;c)L=A-B)+(C-D);d)L=AD B.

4. Sketch the truth table of a three-input NAND gate.

5. Sketch the truth table of a three-input NOR gate.

6. What symbols are used in Boolean algebra to represent the functions AND, OR, NOT and Exclusive
OR?

7. Write the function of a three-input NOR gate as a Boolean expression.

8. What is the difference between combination and sequential logic?

9. Convert the following binary numbers into decimal: 1100, 110001, 10111.

10. Convert the following decimal numbers into binary: 56, 132, 67, 5.625.

11. A single-input trigger that goes into the opposite state with each pulse is called a flip-flop:

a) D—trigger b) RS —trigger c¢) T —trigger d)JK — trigger

12. Which gate only has an output of 1 if both inputs are 17?

a) AND b)OR ¢)NOR d)NAND
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13.

14.

What main elements does the structure scheme of ADC consist of?
a) Comparator, Approximation Register, Sample/Hold

b) Approximation Register, Trigger, Encoder

c) Approximation Register, Trigger, Encoder

d) Comparator, Counter, Trigger

What is the initial state of the trigger?

a) 1

b) 0

¢) Undefined and is a random variable

d) Depends on current potentials and applied logic

Paznea 4.

1.
2.
3.

4.

a

=0 %

O

Draw and explain V-I characteristics of a PN junction diode.

Explain the difference between the voltage amplifier and the current amplifier.

What is the electrical transformer? What types of transformer do you now? What material is
commonly used in a core of a transformer?

Give the expression for turn ratio of a transformer. What is the difference between step-up and step-
down transformer?

What does the term “operational amplifier” mean? Draw the equivalent circuit of an op amp.

Give the circuit of a bridge rectifier. Draw the output voltage waveform if the mput voltage is
sinusoidal (the amplitude V,, and frequency f are known).

What is PWM and how is it used?

What does the term “duty cycle” mean? Illustrate it by a waveform.

Explain the abbreviations: MOSFET, IGBT, SCR.

What types of power converters do you now?

[Ipe3enTanus

Temsl nIpe3eHTalui:

Paznea 1.

1.

Signals
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0N U AW

10.
11.
12.

Fixed resistors vs. Variable resistors
Potentiometers

Wire-wound resistors

Film resistors

SMT-resistors

Avalanche Diode and Tunnel Diode
Photodiode

Light Emitting Diode

Varicap Diode

Schottky Diode

Zener diode

Paznea 2.

PN B W=

Ne)

10.
11.
12.
13.

Operational amplifier in electronics system design
Summing amplifiers

The differential amplifier
Instrumentation amplifier
Active filters

Square wave generator
Triangular wave generator
Crystal-controlled generator
Sine wave oscillator

LC oscillator

Precision current sources
Adjustable Voltage References
Photocell Amplifiers

Pasznea 3.

Nk W=

Algebraic simplification
Binary quantities and variables
Boolean algebra

Boolean algebraic manipulation
Combinational logic
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6
7.
8.
9.
1

Karnaugh maps

Logic gates

Logic families

Number systems and binary arithmetic

0. Numeric and alphabetic codes

Pa3nea 4.

e A ol e

Power semiconductor devices

Power transistor driver

Single-phase full-wave rectifier

Three-phase bridge rectifier

Controlled rectifier

DC-DC converters. Buck converter.

DC-DC converters. Boost converter.

Isolated DC-DC converters. Forward converter.
Resonant converters

10. Invertors
11. Pulse-width modulation
12. Transformers

KonTponbHas pabora

Bonpocstr:

Paznea 1.

1. Time constant. What does it mean? Find time constant for CR- and LR-circuit.

2. Give the circuit of CR low-pass filter and its frequency response. Explain the curve.

3. In a series RC circuit, 12 Vs is measured across the resistor and 15 V(i) is measured across the
capacitor. Find the r.m.s source voltage.

4. A 20 kHz sinusoidal voltage is applied to a series RC circuit. What is the frequency of the voltage
across the resistor?

5. The frequency of the voltage applied to a series RC circuit is decreased. How does the impedance of
this circuit changed?

6. Draw the frequency response of a high-pass filter. Explain how to find the cut-off frequency.

7. An RC low-pass filter consists of a 110 Q resistor and a 0.002 pF capacitor. The output is taken

across the capacitor. How can we find the circuit’s cut-off frequency?
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8. An RC high-pass filter consists of an 8.2 k€ resistor. What is the value of C so that impedance Xc is
ten times less than R at an input frequency of 12 kHz?

9. A sinusoidal voltage with a peak-to-peak value of 36V is applied to an RC low-pass filter. If the
reactance at the input frequency is zero, what is the output voltage?

10. What is the difference between Pass Band and Stop Band?

Paznea 2.

1. Design the adjusted gain inverting amplifier. Determine the output voltage range.

2. Design the two-input inverting adder. Derive an expression for the output voltage in terms of the
feedback resistances and input voltage.

3. What does the term ‘weighting” mean when applied to an adder?

4. Design a three-input inverting adder. Choose components to get V =-3-V,-10-V,-V, if
R; =33 kQ. Suggest a suitable value of the resistor that is series connected to the op-amp
noninverting input.

5. Problem 1:

Given:
R = 10xQ
R1 R4
Vio—1 1 Ry =202
R; = 7.5xkQ
R2
V2 o[ }4-2 > R4y = 100xQ
5 %o Vi=0.1V
Vo=-0.1V
R3 VOut 2
Find:
e o]
J_ Vout, Iout

6. How are the feedback resistors determined for an adder? Draw the diagrams for the explanation of
the principle of operation of the inverting adder.

Paznen 3.
1. Explain the difference between analog and digital signal.
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Show that the two circuits (a) and (b) below are equivalent by drawing truth tables for each circuit.

A —
H—

(a) (b)

A

. Use Karnaugh maps to obtain mmimised Boolean expressions for the following functions

X=AB+ ABC + ABC + ABC
Y=ABC+ ABCD + ACD+ ACD + ABCD

. Use a Karnaugh map to obtain a minimized Boolean expression for the function described by the

following truth table.
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A B C D

[

e e e e e e e T == O e T - T s O e T o T e O

e R e e e R e B e e R e |
i e = N s N I e Y e S Y - Y e Y T s Y |
Ll =T Rl = = =R = T
=R — I — R — T R — R

5. Explain the distinction between combinational and sequential logic.
6. Inan S-R bistable formed using two NOR gates, are the inputs active high or active low?

Pa3nen 4.
1. Explain the difference between the voltage amplifier and the current amplifier.
2. Draw the voltage waveform on the inductor of the power converter if the current is known:
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oy
,,,,,,,,,, i,
1,(0)
0 > f
ur (1)1

A

4. Draw the Buck converter circuit. Using diagrams explain principal of operation of this converter.

PaboTa B ManbIx rpynmax

Task 1. Rectifiers
Description:

Students are randomly divided into 6 groups with the help of cards on which the function of the
group (role) is written. Each group has 5-7 minutes to be prepared to play its role n a game.

After that game starts.
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Roles:

e Role 1.Give the circuit of bridge rectifier. Make notes on connection of elements in a circuit.
e Role 2. Draw the diagrams of voltage drops across all elements of the rectifier. Give

comments on the diagrams shapes and time intervals.

e Role 3: Write Voltage Kirchhoff’s law for one loop of the circuit. Specify it for different time

mtervals.

e Role 4. Explain principle of operation of bridge rectifiers using materials presented by

previous reporters.

e Role 5. Compose three questions or tasks for given circuit.

e Role 6. Answer the questions prepared by Group 5.

Problem #1. Power Semiconductor Devices: Abbreviations and Symbols.
Fill in the Table 1 using the given meanings. Draw the symbol of power semiconductor devices and

translate the device name into Russian.

Table 1.
Ne Abbreviation Hectronic Name Meaning Russian Translation
symbol

1. Diode

2. LED

3. BJT

4. MOSFET

5. IGBT

6. SCR

7. GTO

8. SIT

9 SITH
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10. TRIAC

11. DIAC

12. MCT

13. RCT

14. LASCR

(LTT)
15. BOD
# Meanings

L. A semiconductor device that acts as a one-way valve for electrical current

2 A diode that conducts electrical current only after its breakover voltage has been reached momentarily.
A silicon controlled rectifier that conducts when the gate is exposed to light. The gate still operates as a normal
gate in a SCR, but is in many cases left disconnected.

4. A type of FET, most commonly fabricated by the controlled oxidation of silicon. The main advantage is that it
requires almost no input current to control the load current.

5. A special type of thyristor. It can be turned on by a gate signal, and can also be turned off by a gate signal of
negative polarity.

6. A type of transistorthat uses both electron and hole charge carriers. The basic function is to amplify current.

7. A three-terminal power semiconductordevice primarily used as an electronic switch that, as it was developed,
came to combine high efficiency and fast switching.

8. A three terminal electronic component that conducts current in either direction when triggered.

9. A semiconductor light source that emits light when current flows through it

10. A four-layer solid-state current-controlling device.

11. A thyristor with an integrated reverse diode, so it is not capable of reverse blocking. These devices are
advantageous where a reverse or freewheel diode must be used.

12. A gateless thyristor triggered by avalanche current

13. A high power, high frequency transistordevice. It is a vertical structure device with short multichannel.

14. A thyristor with a buried gate structure in which the gate electrodes are placed in n-base region.

15. A voltage-controlled fully controllable thyristor. It is similar in operation to GTO thyristors, but have voltage

controlled insulated gates.



http://en.wikipedia.org/wiki/Reverse_conducting_thyristor
http://en.wikipedia.org/wiki/LTT
http://en.wikipedia.org/wiki/Avalanche_diode

S. MeTtoauyeckue yKasaHHus 10 Mpoueaype OneHUBAHUSA

O neHoYHbIE MePONPHSATHS

IIpoueaypa npoBee HUsl Olle HOUHOTO MePONPHATHS U HE0OXOAUMbIe MeTO HYe CKUe YKa3aHus

1. TectupoBanue

TectupoBanue mpoBoauTCs oHIaiH. TecT pazpaboTan ¢ mpuMeHeHueM ryri-(gopm. Bpemst mpoBeneHus
— 1 gac. Llenp — mpoBepka yCBOCHHs y4eOHOTO Marepuaia 1o mpoiaeHHoi teme. OrieHnBanue
IIPOM3BOJUTCA MTPENoaBaTeieM Ha OCHOBAaHU Y OaJUIbHO-PEUTUHIOBOM CUCTEMbI OLIEHUBaHUS
PE3yNIbTaTOB.

2. [IpesenTanus

BeicTynnenune ¢ npezeHTanuen 1o 0JHON U3 MPEeUIOKEHHBIX TEM IPOBOAUTCS B paMKaxX MEPONPUATHI
KoH(pepeni-Heaenu. [1o 3aBepiieHNN MPE3eHTALUH CIYIIATEIM MOTYT 3aJaBaTh BOIPOCHI
BBICTYIAIOLIEMY, a TaKKe MPUHUMATh ydacTHE B OLIEHUBAHUM A0KIaAa. VToropslie 6aisl
BBICTaBJISIOTCS MPEOAAaBaTeNIEM B COOTBETCTBUU € Pa3pab0TaHHBIM PEUTHUHT-TIIIAHOM JUCLUTIINHBI.

3. KonTponbHas pabota

KoHnTtponbsHas pabota mpoBoauTcs muchbMeHHO. Bpems mpoBeaenus — 1 yac. Llens — mpoBepka yCBOCHHS
y4eOHOTO MaTepuaa Mo npoieHHoN Teme. KOHTPOJIb OCYIECTBIISIETCST PETYISPHO Ha MPOTSDKEHUH
cemectpa. OnleHuBaHKE TPOU3BOIUTCS IPETIOIaBaTEeNIeM HAa OCHOBAaHUH OaJTbHO-PEUTHHTOBOM CUCTEMBI
OLICHUBAaHU PE3YJILTaTOB.

4. PaboTa B ManbIx rpymnmax

CryzneHTsl IPOU3BOJIBHO JENATCSA Ha IPyIIbl 10 2-3 yenoBeka. C MOMOLIBI0 KapTOUeK OIpeelseTcs
GbyHKUMS (pOJb) TPYHIIbL. Y KaKJOW IPYNIbI €CTh 5-7 MUHYT, 4YTOOBI OJATOTOBUTHCS K CBOEH POJIH.
Iocne aToro HaunHaeTcs padora. OLeHUBaHNE IPOU3BOANUTCS IIPENOAABATENIEM, BO3MOKHO B3aUMHOE
OLIEHUBaHME MEX/1y TpyHIIaMHu.




